CoEying of this document and giving it to others and the use or communication of the contents thereof, are forbidden without express

authority. Contravention of this restric%ion will constitute an evident abuse and result in a liability to the payment of damages. All rights
are reserved in the event of the grant of patent or registration of a utility model or design. This document is the subject of copyright.

Non e permesso consegnare a terzi o riprodurre questo documento, ne utilizzarne il contenuto o renderlo comunque noto a terzi

senza autorizzazione esplicita. Ogni infrazione costituira un evidente abuso e comportera il risar cimento dei danni subiti.

E'fatta riserva di tutti i diritti derivanti da brevetti o modelli.

L —d—— ) —————I—Jd——J

3

Pillar End Left - [181 130905 0]

WABCO name

Desciption

WABCO Number

Support

032_02_VJ05

1810300024

Thread Plate

032_02_SV08

1810300044

DETAIL A
SCALE1:2

Pillar End Left - [181 130 905 0]

WABCO name Description WABCO PN
Pillar End L PEL1AT 1811300050
Pillar End L PEL1CT 1811300370
Pillar End L PEL3BT 1811300390
Pillar End L PEL3CT 1811300090
Pillar End L PELAAT 1811300410
Pillar End L PELSAT 1811300430
Pillar End L PELSBT 1811300450

\\\\\\\\

o o
G © lw"

,'/A,l e
G a

‘‘‘‘‘

PILLAR ADJUSTMENTS

HOLEC

zzzzzz

General Specification JED-334-0, Size ISO 14405-1 E, JED-762

Surface Protection

SCREW SROUB M8x60

DIN 7984 M8 x 60

8101550294

Copyright WABCO ®

Spacer Washer

032_02_VJ06

1810300034

Date

[

Signature

Drawn

NUT MATICE M8

ISO 10511 M8

8103170254

9/25/2012

I Luis C Ramirez

Lock with Pull R

032_02_SV75

1810300072

Checked

RIVET NUT M8-39101

39101-8035

8915703304

3/25/2013

l Luis C Ramirez

Expert

SROUB M8x20

TUFLOK I1SO 4762 M8x20

8912020254

Table Drawing Pillar End Left

OOV [WIN |-

FLAT WASHER PODLOZKAS

ISO 7089

8104050214

Mass

Scale

Material No.

Date of firstissue:

[EEY
o

NUT MATICE M8

ISO 4161

8103460044

3.20

(BN
(B

Pillar Cover

032_02_VV04

1810010064

Doc.Code Language

Sheet

=
N

Pillar End

032_02_VJ10

1810300054

autorisation expresse. Tout manquement a cette regle constitue un abus evident et expose son auteur au versement de dommages et

interets. Tous droits de propriete industrielle reserves, notamment en matiere de brevets et de modeles.
nicht ausdruecklich zugestanden. Zuwiderhandlungen stellen einen offensichtlichen Missbrauch dar und verpflichten zu Schadenersatz.

Toute Communication ou reproduction de ce document, toute exploitation ou communication de son contenu sont interdites, sauf
Alle Rechte fuer den Fall der Patenterteilung oder Gebrauchsmuster-Eintragung vorbehalten.

Weitergabe sowie Vervielfaeltigung dieser Unterlage, Verwertung und Mitteilung ihres Inhalts nicht gestattet, soweit

—_

4

¢ i 1181130 905 0 006 | EN | 1/
Si CAD $

ize ystem ECN-No. Revison Techn. Resp. Replacement for

A3 SOLIDWORKS

Sic

XXXX

6

100mm

PILLAR_END_L

m

drw: DRW_006




